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J| 334,257
< 71,626
Al 71,627
01 MEIBEE 263 477,510 512,951 A 35,441
ogAlts s+ 453,600
J| 317,520
< 68,040
Al 68,040
OFOtES LAAFXH 23,210
J| 16,247
< 3,481
Al 3,482
OYL=ed|2t 2RRE ALY 700
J| 490
S 105
Al 105
307 gl2tol & 8,831 23,330 A 14,499
J| 6,182
< 2,649
11T M 2XALSE EX 8,831 23,330 A 14,499
oYLl E 8,831
J| 6,182
< 2,649
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oOYA=dZ XN 6,000
< 1,800
Al 4,200
LAXNAAS X 6,000 16,000 A 10,000
301 LPEXZ 6,000 16,000 A 10,000
01 MEIBZE+06l= 6,000 16,000 A 10,000
oYL= XA 6,000
Ela0ls NEEHES 105,000 105,000 0
< 26,250
Al 78,750
301 LA F 105,000 105,000 0
< 26,250
Al 78,750
01 AR 2Z A5 3 105,000 105,000 0
O&IA0ls NEHES 105,000
< 26,250
Al 78,750
25EI0ts NE+E 519,080 450,000 69,080
= 415,400
< 31,100
Al 72,580
301 EEMZ 519,080 450,000 69,080
= 415,400
< 31,100
Al 72,580
01 MEI2EZE+5l= 519,080 450,000 69,080
O2s&E20ts Mg 519,080
= 415,400
< 31,100
Al 72,580
Ots+=% XA 39,316,000 39,316,000 0
= 31,453,000
= 3,931,500
Al 3,931,500
301 LPEAZ 39,316,000 39,316,000 0
= 31,453,000
< 3,931,500
Al 3,931,500
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< 3,931,500
Al 3,931,500
Ots=% 234l XN& 12,300 12,300 0
= 8,610
< 1,230
Al 2,460
201 Let24d] 12,300 12,300 0
= 8,610
< 1,230
Al 2,460
01 At 22l 12,300 12,300 0
Olts=% 2g4dl XN& 12,300
= 8,610
< 1,230
Al 2,460
Ots 2 & XI& A = 1,530,062 658,268 871,794
= 1,071,044
< 229,509
Al 229,509
301 EEd = 1,530,062 658,268 871,794
= 1,071,044
< 229,509
Al 229,509
01 MI2EZE 06z 1,530,062 658,268 871,794
OO0t & & A& A & 1,530,062
= 1,071,044
< 229,509
Al 229,509
ors=EX3 X3 10,000 10,000 0
201 L2l 10,000 10,000 0
01 At 22l 10,000 10,000 0
Oots=X&EH X3 10,000
Hotg olgd XA 6,476,000 0 6,476,000
= 4,777,000
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Al 1,189,000
301 LeEAF 6,476,000 0 6,476,000
= 4,777,000
< 510,000
Al 1,189,000
01 MI28E+06l= 6,476,000 0 6,476,000
ozxgtdg olgd XA 6,476,000
= 4,777,000
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01 A& HI 473,000 0 473,000
OX=Al OlsSSEHAS2Z =4 473,000
EYAHE SptdyH FHZENZ 29 6,000 6,000 0
201 LBt 6,000 6,000 0
01 At 22l 6,000 6,000 0
OCEHAEE 2AQdH HFUHAEAHAZ 2 6,000
EYAHE GadH 0l 20,460 19,800 660
201 Let24dy] 20,460 19,800 660
01 At 22l 20,460 19,800 660
OEEAERE HAWH Xz 20,460
Ots=2XAIE K& 21,474,241 17,254,499 4,219,742
= 4,902,856
< 4,418,995
Al 12,152,390
Ots=XAIE 2EXA 4,604,074 4,004,075 599,999
< 690,611
Al 3,913,463
307 gl2tol & 4,604,074 4,004,075 599,999
< 690,611
Al 3,913,463
10 AL SXNAIEEE2EH EX 4,604,074 4,004,075 599,999
Oots=RXA4 29H| 4,604,074
< 690,611
Al 3,913,463
Ots=XAE BAX EEE 229,320 229,320 0
< 65,340
Al 163,980
307 glz2tol & 229,320 229,320 0
< 65,340
Al 163,980
10 ALSISXAIEEE2GHEX 229,320 229,320 0
OO0ts=XAIE SAA S 229,320
< 65,340
Al 163,980
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301 LA F 39,375 39,375 0
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< 3,548
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11T ASI S XA E = 23,650 23,650 0
OZdHN Rsots RS 23,650
= 16,555
= 3,548
Al 3,547

SSHEINFY(OEE) SAX EE ¢ 23,720 23,600 120
< 7,200
Al 16,520

307 21201 A 23,720 23,600 120
< 7,200
Al 16,520

10 ALSISXAIEEER2IHEX 23,720 23,600 120
OSSHMEINTY(OAEE) AN EE ¢ 23,720
< 7,200
Al 16,520

SSMEINE SAA o2 2R2=Y 32,400 32,400 0
< 9,720
Al 22,680

307 gl2tol & 32,400 32,400 0
= 9,720
Al 22,680

11T ALSI S RAEE = 32,400 32,400 0
OZSMEIE BAR o222+ 32,400
< 9,720
Al 22,680

ZSHHIIF(OEE) AR 22U FHXE 32,174 0 32,174
< 9,652
Al 22,522

307 glz2+ol & 32,174 0 32,174
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Al 22,522

10 ALSISXAIEEE2EHEX 32,174 0 32,174
OZSHEINE(OAEE) SAX FIHXE 32,174
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OISLAESAE 2R 601,446 0 601,446
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Al 300,724

307 21201 A 601,446 0 601,446
< 300,722
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307 glztol & 48,960 0 48,960

= 9,792
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&2 OFSEXAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 83,130
< 33,252
Al 83,502
11T MISXAS EX 199,884 271,584 AT1,700
OE4E XNdotsdH =0 XN& 199,884
= 83,130
< 33,252
Al 83,502
ANEotsdH 298 =0t A& 40,800 40,200 600
= 12,240
Al 28,560
307 21201 A 40,800 40,200 600
< 12,240
Al 28,560
11T MISXASEEX 40,800 40,200 600
OXdotsd e 244 =0t X& 40,800
= 12,240
Al 28,560
NHOtsHE SALA =& 319,400 253,080 66,320
< 63,880
Al 255,520
307 glz2tol & 319,400 253,080 66,320
< 63,880
Al 255,520
10 AL SXAIEEHE 2 H EX 319,400 253,080 66,320
OXN<gGotsHEH SALL =< 319,400
< 63,880
Al 255,520
ANAOotsSHEH SAA =X+ 278,100 273,600 4,500
307 21201 A 278,100 273,600 4,500
10 ALSISXAIEEE2EH EX 278,100 273,600 4,500
OXNSOISHE SAL SK==E 278,100
NEOotsSHEH SAX 124H FIOtX& 196,477 0 196,477
= 58,845
Al 137,632
307 21201 A 196,477 0 196,477
< 58,845
Al 137,632
10 ALSISXAIEEER2IHEX 196,477 0 196,477
OXGotsHdEH SALA oAH =IHX& 196,477
< 58,845
Al 137,632
NEotsdE =4H K& 4,027,600 2,719,000 1,308,600
< 836,937
Al 3,190,663
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307 2Iz2to| & 4,027,600 2,719,000 1,308,600
== 836,937
Al 3,190,663
11T A EXAIEEX 4,027,600 2,719,000 1,308,600
OXNYotsHH SUs: SAH X 3,347,750
= 836,937
Al 2,510,813
OXNY0l=sHEH EQX2Y S4H XIS 201,600
OXNHOtsSHEH Sz 2HAH X 478,250
NEOotsHE ZMA XS 50,000 100,000 A 50,000
= 25,000
& 10,000
Al 15,000
402 SI2vXHE0| & 50,000 100,000 A 50,000
= 25,000
& 10,000
Al 15,000
02 BIZtXIEANYEX(0OIETH) 50,000 100,000 A 50,000
OXYGotsHdH S3MEXNH 50,000
= 25,000
= 10,000
Al 15,000
XNE0otsHEH T2 08 =0t & 527,520 490,872 36,648
o= 158,256
Al 369,264
307 212t0| & 527,520 490,872 36,648
=} 158,256
Al 369,264
11 A EXAIEE X 527,520 490,872 36,648
OXNY0lsHEH T2 08 =X & 527,520
& 158,256
Al 369,264
NEOotsSHE A - et XI& 13,600 13,400 200
307 2Iz2to| & 13,600 13,400 200
10 MM SXAANEEHESIGHEX 13,600 13,400 200
OXNAOtSHEH H - HEtH K& 13,600
XNEotEHdEeH MW 2E X 13,600 13,400 200
307 gizto| A 13,600 13,400 200
10 MM SAANEEHESIGHEX 13,600 13,400 200
OXYotsdH WAHRFH K& 13,600
XAotsSHEH SAUS 8,000 9,000 A 1,000
307 QI2t0| & 8,000 9,000 A 1,000
11 AMS SR AE E 8,000 9,000 A 1,000
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402 12t Xt=01 & 140,500 0 140,500
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02 (I 2 AL EX(0OIETHR) 140,500 0 140,500
OMAXSOtSHEHE JIs2H 5,500
< 5,500
OJZ2RcXN0tSHEH JIsE2H 5,700
= 5,700
OLSXNHsHH JIs2H 7,000
< 7,000
OltsX4otsdE JIs2d 10,000
= 10,000
OANSASHOISHE 23 At 10,000
S 10,000
OZUXIHOtSHE clZEESA 10,000
= 10,000
QXOIXNSOtSHE SHFAIA 15,000
S 15,000
OHICIEX S 0tSHEH JIsE2Z 10,000
= 10,000
OZLXNSOISHEH JIsES 10,000
£ 10,000
OHAXHOtSHEH JIs2H 5,000
= 5,000
OsdIgotsdH &3 5,000
S 5,000
OROIXNSOtSHE FM 21,000
S 21,000
OIS otsHEH 23HA 7,000
S 7,000
OzEXSH0tSHH JIs2H 12,000
S 12,000
OSHANHOSHE 23 At 7,300
== 7,300
I 1,534,775 1,132,360 402,415
= 661,800
= 407,003
Al 465,972
HEN OISREESI2 &3 600,000 600,000 0
= 300,000
= 150,000
Al 150,000
401 AIEHI L 2CHYI 560,000 600,000 A 40,000
= 280,000
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307 2Iz2to| & 34,208 0 34,208
== 10,262
Al 23,946
10 MM SXAANEEHESIGHEX 34,208 0 34,208
OOSESHEEI & SAILL S8E4H 34,208
= 10,262
Al 23,946
Olssy gt & IOoiolts BEs 16,760 0 16,760
201 gEt24H Y| 11,760 0 11,760
01 AP 2t 2] d| 9,600 0 9,600
Oots&l MY =8 ¥ 29 9,600
02 =224 H| 2,160 0 2,160
OOIsSE M ZAIER EUE 0lss 2,160
301 et A =2 5,000 0 5,000
01 Al E & A 462 5,000 0 5,000
Ostiool ols 28 ¥ X =4 5,000
OlsS& Alelats XI=2Hl K& 29,000 0 29,000
& 8,700
Al 20,300
307 QI2t0| ™ 29,000 0 29,000
& 8,700
Al 20,300
11T A EXAIEEX 29,000 0 29,000
OOts& Ml Al X=sdH XS 29,000
& 8,700
Al 20,300
OlsSESUEA s5:HSE &4 U stAIX& 10,000 0 10,000
= 5,000
Al 5,000
405 Ko SHI 10,000 0 10,000
= 5,000
Al 5,000
01 XA 2 FF S| 10,000 0 10,000
OOsSSHEA =58 &4 &Yl SAXRA 10,000
= 5,000
Al 5,000
s 33 X 10,417,480 9,317,209 1,100,271
= 4,913,347
Fag 687,000
J| 542,181
& 1,380,537
Al 2,894,415
SIERIIENE = S XA 3,000 3,000 0
J| 2,400
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< 300
Al 300
307 glz2tol & 3,000 3,000 0
J| 2,400
< 300
Al 300
11T MIEXASEX 3,000 3,000 0
OSRL2INE=SXNAELE LAX 2=FH X2 3,000
J| 2,400
< 300
Al 300
FAUEe22 HEXE 67,800 51,176 16,624
J| 33,900
< 16,950
Al 16,950
307 21201 A 67,800 51,176 16,624
J| 33,900
< 16,950
Al 16,950
11T MISXASEEX 67,800 51,176 16,624
o2t HEIIA 24 67,800
J| 33,900
< 16,950
Al 16,950
SHRR2IIE SXAE 22| 1,146,081 1,072,385 73,696
< 171,912
Al 974,169
307 glz2tol & 1,146,081 1,072,385 73,696
< 171,912
Al 974,169
10 AL SXAIEEE2EH EX 1,146,081 1,072,385 73,696
OBR2IIE SXAE 29I 1,146,081
< 171,912
Al 974,169
SIRIRIE SXNAIE EML = 25,920 22,068 3,852
= 7,776
Al 18,144
307 glz2+ol & 25,920 22,068 3,852
< 7,776
Al 18,144
10 ALSISEXAIEEE2EHEX 25,920 22,068 3,852
OStREEIIE SXNANE SAX =& 25,920
< 7,776
Al 18,144
SHRERIIE LAESAIE S4X TI=H N2 4,000 4,000 0
< 1,200
Al 2,800
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2N
X ZH -
L= B

el

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Ei HR=2
307 2Iz2to| & 4,000 4,000 0
== 1,200
Al 2,800
01 e =t 4,000 4,000 0
OStE2IE LAIBSA A O =H X& 4,000
= 1,200
Al 2,800
200 EXAIE 4K NEHEEHB 30,000 30,000 0
= 4,500
Al 25,500
301 et A =2 30,000 30,000 0
& 4,500
Al 25,500
01 Al B & A 46 2 30,000 30,000 0
OStRER2IIE SXANE E AN NEHE= 30,000
& 4,500
Al 25,500
SHERIIE EXAIE A 22| 3,400 3,400 0]
o= 1,020
Al 2,380
307 2I2t0| ™ 3,400 3,400 0
o= 1,020
Al 2,380
11 A EXAIEEX 3,400 3,400 0
ostERIIE B 2 &l 3,400
& 1,020
Al 2,380
S8 2XAIE It 11,400 11,400 0
& 3,420
Al 7,980
307 2iz2to| A 11,400 11,400 0
& 3,420
Al 7,980
11T AISIEXAIEEX 11,400 11,400 0
OStER2IIE EXALE JIssET X 11,400
o=} 3,420
Al 7,980
SIS AIE AKX X & 25,200 28,000 A 2,800
J| 12,600
= 5,040
Al 7,560
307 QI2t0| & 25,200 28,000 A2,800
J| 12,600
= 5,040
Al 7,560
11T A EXAIEEX 25,200 28,000 A 2,800




2N

g o4 ==X &
Sl JtE FE X8 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OStRLIIE SXRNAE 4R &4 - Xg X2 25,200
J| 12,600
< 5,040
Al 7,560
SIRRIEANLE JIs28 NH 88,000 40,300 47,700
J| 44,000
< 22,000
Al 22,000
402 RIZEXt20l ™ 88,000 40,300 47,700
J| 44,000
< 22,000
Al 22,000
02 RIZEXt 2 AL EZ (01T ) 88,000 40,300 47,700
OStREZIIEANE JIsEZAY 88,000
J| 44,000
< 22,000
Al 22,000
AN& OlolEs8MElA XA (SREIZIIE) 78,603 75,000 3,603
J| 55,022
< 9,432
Al 14,149
307 gl2tol & 78,603 75,000 3,603
J| 55,022
< 9,432
Al 14,149
02 It M AHE L 78,603 75,000 3,603
OAN& OlolEsSAHBIA XA(BRER) 78,603
J| 55,022
< 9,432
Al 14,149
SSHMEIIFFE( YL =AX 64,800 48,800 16,000
J| 64,800
307 glz2+ol & 64,800 48,800 16,000
J| 64,800
11T MISXASEX 64,800 48,800 16,000
OSSMEINZTH(HLLU) FHAA(SHER) 64,800
J| 64,800
fUIE =HXE 1,000 1,000 0
201 et 1,000 1,000 0
01 At 22l 1,000 1,000 0
ORUIE =AHAXNA 100, 000& 2 Ml CH #5201 & 1,000
Otol=sS K& 6,894,452 6,879,023 15,429
= 4,826,117
< 827,334
Al 1,241,001
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2

307 2Iz2to| & 6,894,452 6,879,023 15,429
= 4,826,117
& 827,334
Al 1,241,001

11T AISIEXAIEEX 6,894,452 6,879,023 15,429
ooolssid 6,894,452
= 4,826,117
= 827,334
Al 1,241,001

HAINAE L U2SI0E XNKHEH 29 (H2LIHE) 371,860 356,480 15,380
J| 148,730
= 59,492
Al 163,638

307 QI2t0| & 371,860 356,480 15,380
J| 148,730
& 59,492
Al 163,638

11T A EXAIEEX 371,860 356,480 15,380
OHLINEXNIHLHEH 29 371,860
J| 148,730
= 59,492
Al 163,638

ALNEXNJEEH SAXN S 20,520 20,520 0
o=t 6,156
Al 14,364

307 2Iz2t0| & 20,520 20,520 0
o= 6,156
Al 14,364

10 M SXNAEEHESIGHEX 20,520 20,520 0
OAHUINZXAHME ESALLN EXEE 20,520
& 6,156
Al 14,364

A& OIOISEAMHIA N (HLINEXKAAMEY) 8,734 8,245 489
J| 6,114
& 1,048
Al 1,572

307 2iz2tol A 8,734 8,245 489
J| 6,114
&< 1,048
Al 1,572

11T AISIEXAIEEX 8,734 8,245 489
OAlE Ol0ISEAHIA N (AHALINEXKAHLE) 8,734
Jl 6,114
= 1,048
Al 1,572

OlolE==20l HZd&H K& 11,400 11,400 0
o=} 3,420
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Off &t 24

=

i
2m

Al

7,980

307 21201 A

= M

11,400

3,420
7,980

11,400

A S XA E X

OOt0IS 20l AL HAH X

f

Al

11,400
11,400

3,420
7,980

11,400

AAOlE S MHIA AYE 29

98,700

98,700

307 glztol &

98,700

98,700

IEEREEES
O+#IT 2 L oAbl X &

O2EMHIA A

1)
«

98,700
16,800
81,900

98,700

FHAAIINSXE

= M W

174,460
87,230
43,615
43,615

164,460

10,000

307 21201 A

= M W

174,460
87,230
43,615
43,615

164,460

10,000

1A XA E =

CEET BB

= W

174,460

174,460
87,230
43,615
43,615

164,460

10,000

Hhn X

Al

75,000
37,500
15,000
22,500

75,000

307 glztol &

J|

Al

75,000
37,500
15,000
22,500

75,000

1A SXAIE 2 =

=8 3sH X

Jl

= M

75,000

75,000
37,500
15,000
22,500

75,000

0K
O
Ho
(=)
°
0
o
Mo
02

Jl|

in

Al

286,150
137,115
58,422
90,613

221,552

64,598

307 21201 &

mn <

286,150

137,115
58,422

221,552

64,598
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-

-

AN GEIEY
Hu: oM - OlS=X =d
Sl JbE IH XS (e
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il Hl D&
Al 90,613
11T MISXASEX 286,150 221,552 64,598
oOs=s=s0tltsH 29 286,150
J| 137,115
< 58,422
Al 90,613
SsF0tUsH el228d XA 50,000 100,000 A 50,000
= 15,000
Al 35,000
402 RI2tXt20l ™ 50,000 100,000 250,000
< 15,000
Al 35,000
02 2IZt 2 AL EZ (01X TH ) 50,000 100,000 A 50,000
O032s=s0tUsH 2228 XI& 50,000
< 15,000
Al 35,000
dF OfsR2stn 24 65,000 65,000 0
201 £B-2dH| 15,000 15,000 0
01 At 22l 15,000 15,000 0
O0s22sn g8 ¢ 294 12,000
ORZUESTUEAI ¥ A2t 2E3 3,000
301 LeHBAF 50,000 50,000 0
12 JIEtE4 = 50,000 50,000 0
Od=F OlIz2R2sw AAME 50,000
28 HE 2d R2U=E X2 25,000 25,000 0
= 7,500
Al 17,500
307 g1zl & 25,000 25,000 0
S 7,500
Al 17,500
11T M Z2XAIS EX 25,000 25,000 0
OZs Itd 24 2RU=s N2 25,000
= 7,500
Al 17,500
Al JIEHH AE 787,000 0 787,000
as 687,000
< 100,000
401 AIEHI L 2 CHYI 787,000 0 787,000
ras 687,000
< 100,000
01 A& HI 787,000 0 787,000
O&EFAl JISdH AE 787,000
s 687,000
S 100,000
— 35 —




AN GEIEY
M (J23AE X2
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ct2 3t ALE X & 2,398,336 2,264,105 134,231
9] 808,254
< 393,968
Al 1,196,114
Ct23tAlel X & 2,398,336 2,264,105 134,231
J| 808,254
< 393,968
Al 1,196,114
ChENS XN HEH 2K 363,340 315,400 47,940
2l 120,170
= 36,051
Al 207,119
307 21201 A 363,340 315,400 47,940
J| 120,170
< 36,051
Al 207,119
11 ALS S XAEE = 363,340 315,400 47,940
OUZaIIEXNJEH 2EXA 363,340
J| 120,170
< 36,051
Al 207,119
ChENEXNJHEH SAE XA 32,199 29,003 3,196
< 12,880
Al 19,319
307 glz2+ol & 32,199 29,003 3,196
< 12,880
Al 19,319
10 ALSISXAIEEE 22X 32,199 29,003 3,196
OUISIEXNAHEH SAIE XA 32,199
< 12,880
Al 19,319
Ct2SEXNJALEH SAX = 127,720 113,080 14,640
< 18,876
Al 108,844
307 21201 A 127,720 113,080 14,640
< 18,876
Al 108,844
10 ALSISXAIEEER2IHEX 127,720 113,080 14,640
OUZR3INEXNJALEEH SAX = 106,920
= 12,636
Al 94,284
OUIZSIIEXNALEH HESZ 20,800
< 6,240
Al 14,560
Ch2tEXJAEEH JIsE 44,000 0 44,000
405 TtobF S| 44,000 0 44,000
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AN GEIEY
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 44,000 0 44,000
OUISIIEXNJAMLEH JIs22 44,000
Ct2sttEXJHEH o™ X2 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
11T MISRASEX 10,000 0 10,000
OU=Zs =X dE 0l XA 10,000
Ct2stEsCH EX23 dF X2 2,000 12,000 210,000
307 21201 A 2,000 12,000 210,000
02 LAFLAFEX 2,000 12,000 A 10,000
OU=23 fA44 Ol 2,000
=232 FEHE 80 U280 &M 13,000 13,000 0
201 £B-2dH| 10,000 10,000 0
03 A2 Z Hl 10,000 10,000 0
O=zste ZHEs €0 U235 N 5,000
Osgt= 1R 23 ME 5,000
301 LA F 3,000 3,000 0
09 SAEHIX A S 3,000 3,000 0
OFste ZHES €0 U234 N 3,000
AUgs @ JUME s $RUSAHEHA T3 328,304 318,512 9,792
Jl 153,952
< 46,186
Al 128,166
307 glz2tol & 328,304 318,512 9,792
J| 153,952
< 46,186
Al 128,166
11T M SRAIS EX 328,304 318,512 9,792
OXHLE & IHME & YRusAHHA X
& 328,304
J| 153,952
< 46,186
Al 128,166
Ch23It= Atdl2tel X& 71,700 63,650 8,050
J| 35,850
< 10,755
Al 25,095
307 glz2tol & 71,700 63,650 8,050
J| 35,850
< 10,755
Al 25,095
11T M SXAISE EX 71,700 63,650 8,050
OLIZsItE Atedl2tel XI& 71,700
J| 35,850

_37_




AN &8Iz
B 23S T2
R U2SAIS X & (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 10,755
Al 25,095
ChESIE & - HIE MUl A X3 95,364 90, 150 5,214
J| 47,682
= 14,305
Al 33,377
307 2Iz2t0| & 95,364 90, 150 5,214
Dl 47,682
= 14,305
Al 33,377
11T A EXAIEEX 95,364 90, 150 5,214
OZ&0|12X & - HIEANHA K& 95,364
J| 47,682
o=} 14,305
Al 33,377
Chesits e se 1 115,500 106, 560 8,940
J| 57,750
& 17,325
Al 40,425
307 QI2t0| ™ 115,500 106, 560 8,940
J| 57,750
& 17,325
Al 40,425
11T A EXAIEEX 115,500 106, 560 8,940
OUE3IIE ANEHAEY XA 115,500
J| 57,750
== 17,325
Al 40,425
Ol JIEEE =4 67,886 60, 140 7,746
Dl 33,943
= 10,183
Al 23,760
307 2Iz2t0| & 67,886 60, 140 7,746
J| 33,943
o= 10,183
Al 23,760
11 A EXAIEEX 67,886 60, 140 7,746
O0=EAd JI=std A 67,886
J| 33,943
& 10,183
Al 23,760
Z2E010X HAS XS 24,500 25,000 A 500
J| 12,250
& 3,675
Al 8,575
307 giztol & 24,500 25,000 A500
J| 12,250
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A=
CI23HAIS X &
Ct23tAISI X (2 &HH)
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
= 3,675
Al 8,575
11T A EXAIEEX 24,500 25,000 A 500
OZZ20|2AH S&2FAA 24,500
J| 12,250
= 3,675
Al 8,575
S30tEs DELS0| A Y 49,000 104,000 A 55,000
=} 14,700
Al 34,300
307 QI2t0| ™ 49,000 104,000 A 55,000
=} 14,700
Al 34,300
11 A EXAIEE X 49,000 104,000 A 55,000
OLUE3IIE DESUE0| ALY 49,000
& 14,700
Al 34,300
Ct23t 0|0 EHAHMH 24 137,026 125,833 11,193
= 29,108
Al 107,918
307 2Iz2to| A 137,026 125,833 11,193
= 29,108
Al 107,918
11T A EXAIEEX 137,026 125,833 11,193
OUE3 0|F0 EBAMEH 29 97,026
= 29,108
Al 67,918
O2A=20 22X & 29 40,000
Y IssE 24 147,225 146,090 1,135
o= 51,529
Al 95,696
307 2Iz2t0| & 147,225 146,090 1,135
o= 51,529
Al 95,696
11 A EXAIEEX 147,225 146,090 1,135
o2=z4 ossty 2949 147,225
& 51,529
Al 95,696
2sEAYE A2 XA 10,000 10,000 0
& 4,000
Al 6,000
307 2iz2to| A 10,000 10,000 0
& 4,000
Al 6,000
11T AISIEXAIEEX 10,000 10,000 0
otiesgasyd Xz X3 10,000
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AN GEIEY
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 4,000
Al 6,000
ZS0/2X HNPEAWS 18,750 21,000 A 2,250
< 7,500
Al 11,250
307 glz2tol & 18,750 21,000 A2,250
< 7,500
Al 11,250
11T M SRAISE EX 18,750 21,000 A2,250
OZS0l2X HHUEHUR 18,750
< 7,500
Al 11,250
ZE0I8X sAHFHSE XA 56,000 56,000 0
< 22,400
Al 33,600
307 glz2tol & 56,000 56,000 0
= 22,400
Al 33,600
11T MISRASEX 56,000 56,000 0
OZE0I2A st FHSE K& 56,000
< 22,400
Al 33,600
ZE0I2 A e SHH| X & 22,000 20,000 2,000
< 8,800
Al 13,200
301 LA F 22,000 20,000 2,000
< 8,800
Al 13,200
01 Mel28E+dl= 22,000 20,000 2,000
OZ&0l2 A st stHIXI& 22,000
< 8,800
Al 13,200
Z41lol 0l EsAd 22X 249,112 226,947 22,165
J| 174,378
< 22,420
Al 52,314
307 glz2tol & 249,112 226,947 22,165
J| 174,378
< 22,420
Al 52,314
11T M SXASEEX 249,112 226,947 22,165
OZgMlol 0IF04 ESAE 2EXE 249,112
J| 174,378
< 22,420
Al 52,314
ZdIlol 0IFHE BESAIE ML = 12,280 12,640 A 360
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AN GEIEY
& C23HALE X2
chel: OEtAE K& (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 3,684
Al 8,596
307 glz2tol & 12,280 12,640 A 360
< 3,684
Al 8,596
10 ALl SXAIEEE 2 H EX 12,280 12,640 A 360
O=ZgIlol 0IFHE BESAIE ML =¢ 12,280
< 3,684
Al 8,596
ZdT0|o1 01F0HE E3AE 4% HEAA 10,000 0 10,000
J| 10,000
307 21201 A 10,000 0 10,000
J| 10,000
11T MISRASEX 10,000 0 10,000
O=Z4dIlol 0IFHE ESAE E4% ANEX2 10,000
J| 10,000
Z10lol 0l=0d ESAlE A8 ES 6,222 5,000 1,222
9] 4,355
< 622
Al 1,245
402 QI2H X201 M 6,222 5,000 1,222
J| 4,355
< 622
Al 1,245
02 QI 2 A EZ(OI X TH ) 6,222 5,000 1,222
OZdIloh OIFHE ESAE B2 6,222
J| 4,355
< 622
Al 1,245
Zd0lol 0IFHE BESAIAE JIsEZ 5,000 0 5,000
< 1,500
Al 3,500
402 RIZEX20| A 5,000 0 5,000
= 1,500
Al 3,500
02 DIt EAILS EZ (OIS ) 5,000 0 5,000
OZ4llol OIFHE ESAE JIsES 5,000
< 1,500
Al 3,500
ZIch olF0d &g 29X 315,848 288,100 27,748
J| 157,924
< 47,377
Al 110,547
307 21201 A 315,848 288,100 27,748
J| 157,924
< 47,377




P~}
CtE3tALS X1 &
Ct23tAtal X & fEH)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
Al 110,547
11T MISXASEX 315,848 288,100 27,748
OZ=gUol 0048 a4gdax 23 NE 315,848
J| 167,924
< 47,377
Al 110,547
Z0lol 0lF0d &g BALL =€ 49,360 49,000 360
= 5,592
Al 43,768
307 glztol & 49,360 49,000 360
< 5,592
Al 43,768
10 A SXNAEHE2EHIEX 49,360 49,000 360
O=Z=ol 004 a5 SAML = 49,360
=) 5,592
Al 43,768
=0 HZFAEA 2Y 15,000 0 15,000
< 4,500
Al 10,500
307 21201 & 15,000 0 15,000
< 4,500
Al 10,500
11T M SRASE EX 15,000 0 15,000
Q=ol HEMEA 29 15,000
S 4,500
Al 10,500
2 EH(HLEIH=1) 1,689,968 1,497,334 192,634
= 882,470
=) 240,524
Al 566,974
Jl2Z2HI(HAt=E) 110,528 87,912 22,616
Jl2Z2H (A ItED) 110,528 87,912 22,616
201 Let24E] 66,408 46,272 20,136
01 AFR 22l 64,408 45,272 19,136
oLt~ 31,200
oz2g+g 7,000
o=l 26,208
02 2324l 2,000 1,000 1,000
O3EXE FA &bl 2,000
202 Oddl 39,320 37,440 1,880
01 = LH 4 Hi 39,320 37,440 1,880
OJIegRF=& A 39,320
203 YR =& 4,800 4,200 600
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AR GRS =

= HE2GFU (WAL=
o2l D22 H(640=1) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
04 EAN2I LRI 4,800 4,200 600
ORN2ILRZ=AHI 400,000& x12& 4,800
OIH I (WS IIE1) 1,579,440 1,409,422 170,018
= 882,470
< 240,524
Al 456,446
Ots=X WA THA 979,920 992,090 A12,170
= 473,510
< 189,404
Al 317,006
101 @124 dl 821,263 992,090 A 170,827
= 401,231
< 160,492
Al 259,540
03 BRI (RIHY)2E2NHES 821,263 992,090 A 170,827
OOts= X WA IHA 821,263
= 401,231
< 160,492
Al 259,540
201 Let24d] 14,100 0 14,100
04 SISEEXNMEA BB 14,100 0 14,100
OOts=R WA THA 14,100
04 ASRE=S 144,557 0 144,557
= 72,279
= 28,912
Al 43,366
01 A3 2E3 92,254 0 92,254
OOts= X WA IHA 92,254
= 46,127
= 18,451
Al 27,676
02 2QALEES 28,668 0 28,668
OOts= X WA THA 28,668
= 14,334
= 5,734
Al 8,600
04 SR (RINHY) 22N NEBERRELZS 23,635 0 23,635
OOts= X WA IHA 23,635
= 11,818
= 4,727
Al 7,090
FAHES OrSSESMUIA XA (21248]) 256,000 252,120 3,880
= 204,800
< 25,600
Al 25,600
101 1A bl 229,600 252,120 N 22,520
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S 04}
oo

D o
Shel: ol

ir

N

il
M
40
Tor
=
=
ir
=
1%
(e
0x
Jo

0l &t o

=

M
2Hm
==
£l
Ol
0y

183,680
22,960
22,960

= Hn

H)22RE S 229,600 252,120 N22,520
FAANS OlsSEABIA 229,600
183,680

22,960
22,960

= N H

304 H=EE=SS 26,400 0 26,400
21,120
2,640
2,640

= HnH

01H=2E=s 9,300 0 9,300
OFAANE OtsSSEAMHI A 9,300
7,440

930
930

02 =21H2E2E3 9,600 0 9,600
OFAAHNS OtSSEAHIA 9,600
7,680

960
960

PA(RIAY) 2N LESEE2RLE IS 7,500 0 7,500
HE OtSSEAMBIA 7,500
6,000

750
750

= N H = Hn

= M W

OlsE2s dE¥ XA (A2Ad]) 343,520 165,212 178,308
204,160
25,520
113,840

= M W

101 1Al 319,520 163,212 166,308
204,160
25,520
89,840

= M W

02 JIEt& 2= 319,520 163,212 166,308
25 dge¥ & 319,520

204,160
25,520
89,840

= N W

202 o4 Hl 11,520 5,760 5,760

01 =W o8I 11,520 5,760 5,760
Oolls2s Mg X 11,520

HFHl 12,480 6,240 6,240

]| 12,480 6,240 6,240
S Mg X 12,480
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